
   

 

BLUE A 
1) 

 

 

0.2 x 400 

2) 

 

 

374 ÷ 3 

3) 

 

 

15% of 201 

4) 

 

 

A photocopy costs £0.10 – how much do 500 copies cost? 

5) 

 

 

Decide which is the biggest out of 
5

8
 and 

2

3
. 

6) 

 

 

Write down the value of the digit 3 in the answer to: 

931 x 100 

7) 

 

 

A snooker player takes an average of 15.2 seconds per shot. If they have 

135 shots, what is the total time they are at the table?  

 

8) 

 

 

How many seconds are there in 
1

12
 of a day? 

 

 


